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I. Multiple Choice Question 5 x 1 = 5
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If cos 28 + sin 28 = k , then cos 17  is equal to
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If  , then   equals to

(a) -2 cosፀ (b) -2 sinፀ (c) 2 cosፀ (d) 2 sinፀ
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II. Answer all the questions. 5 x 2 = 10

Identify the quadrant in which an angle of each given measure lies; -550

Identify the quadrant in which an angle of each given measure lies; -2300

Express each of the following angles in radian measure 

-2050

Find the degree measure corresponding to the following radian measure;  10π

9

Show that tan (45  + A) = o 1+tan A

1−tan A

III. Answer any five questions. 11th is compulsory. 6 x 3 = 18

For each given Angle, find a coterminal angle with a measure of   such that   

-270  

θ ≤ θ ≤ 360°0o

0

For each given Angle, find a coterminal angle with a measure of   such that   

1150  

θ ≤ θ ≤ 360°0o

0

What must be the radius of a circular running path, around which an athlete must run 5 times in order to describe 1 km?

In a circular of diameter 40 cm, a chord is of length 20 cm. FInd the length of the minor arc of the chord?

A train is moving on a circular track of 1500 m radius at the rate of 66 Km/hr. What angle will it turn in 20 seconds?

What is the length of the arc intercepted by a central angle of measure 41  in a circle radius 10 ft ?0

IV. Answer all the questions. 4 x 5 = 20
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If sin   + cos   = m, show that cos  + sin   =  , where m    2θ θ 6θ 6θ
4−3( −1m2 )2

4
2 ≤

If a cos   - b sin   = c, show that a sin   + b cos   = θ θ θ θ ± + −a2 b2 c2
− −−−−−−−−−√

If   prove that + = 1co αs4
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